


Table S2 Parameter estimates for the best scenario (scenario 4, Fig. 5) from the Approximate Bayesian Computation (ABC) analysis.
	Parameter
	Mean
	q025
	q975

	Ancestral Ne (105)
	4.75
	2.65
	4.99

	Ne2 (105)
	 2.66
	0.52 
	 4.83

	Ne Lineage A (104)
	 5.27
	 1.85
	 8.76

	Ne Lineage B (104)
	 1.56
	 3.55
	 4.03

	Ne Lineage C (105)
	 2.56
	 1.03
	 4.64

	Ne Lineage D (105)
	4.09 
	 2.60
	 4.91

	t1 (generations x104)
	 2.10
	 0.69
	 3.01

	t2 (generations x104)
	[bookmark: _GoBack]4.44 
	 3.471
	 6.25


Ne: effective populations size; t: divergent time.
 





